
  

 
 
 
 
Components List: 
 
                                                                                                       
1 Transmission guard 1 x M8 x 45mm Bolt 
1 Mounting bracket 3 x M8 x 40mm Washers 
2 x M8 x 30mm Bolts  

 
 
Fitting instructions. 
 
1. Elevate front of vehicle safely. 
 
2. Undo the two outer bolts from the vehicle's transmission rear mounting bracket and fit the 
transmission guard mounting bracket using the two standard bolts. (This bracket is handed, fit the 
narrow side to the drivers side, refer photo below). 
 
3. If you have one of our sumpguards on your car now, please remove the rear M8 x 35mm bolt and 
washer leaving the front two bolts in place. Line the transmission guard up with the front mounting 
hole and loosely fit the M8 x 45mm bolt and washer supplied in the kit. 
 
4. If you're fitting this transmission guard without a sumpguard, loosely fit the M8 x 45mm bolt and 
washer through the single front hole into the rear engine crossmember. 
 
5. Line the rear transmission guard holes up with the mounting bracket and loosely fit the two M8 x 
30mm bolts and washers into the mounting bracket nutserts. 
   
6. Once the transmission guard is lined up proprely, tighten all three bolts up securely. 
    (Recomended torque 28Nm, (21 lb ft). 

Fitting Instructions for 
Subaru Outback BS 
Transmission guard  
 TG-048 


